1.

2ax — 4ay 5 Q1-E5|SHH?

® 2(ax - ay)

@ 4(x - 2ay)

@ 2a(x - 2ay)

® 4da(x-2y)

@Qa(x —2y)




2. a(y-3)+4(3-y) & JdsEalctH?

D -(y+3)(a+4) @ (y+3)(a+4)
® 4a(y-3) @ 0-3)a-4)
® (y-3)(a+4)

a(y—-3)+4@3-y) =aly-3)—4(-3+y)
=(y-3)(a-4)




@D x2-6x+9 @ 4x% 1 16x - 16
@ ¥+ 12x + 36

@2x2 +4xy+ 4y2
® 2+ duy + 4y

@20 +dxy + 47 = 27+ doy + 47 + 7

= (x_|_2y)2 _|_x2
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©x2 + 10x + 25 @x2 +8x+ 16
@ ¥ +12x+25 @ 2x2 + dxy + 4y?
@x2 + 6xy + 9y?

@ (x+5)2

@ (x+4)?

® (x+ 3y)?




5.

4x% + Ox + 16 ©] &HAFA0] E o, o]

@® (2x+1)? @ (2x+2)?
@) (2x+ 2y ® (2x5)?

(2x+4)% = 4x® + 16x + 16




&2~ 6xta=(x-b)? & WEL W, ab O ZH& Fotole

> E.

> ®e: ab =27

B

x% = 6x+a=(x—b)>
(x=3)?=(x-b)*
x> —6x+9=(x—b)?
Ta=9, b=3




7. @ —4p? S ASEeHA?

@ (a-2b)* @(a+2b) (a —2b)
® (a+b)(a-4b) @ (a+2)(h-2)
® (a+2b)?

a? - 4b® = a? - (2b)?
= (a+ 2b) (a - 2b)




® 2x

@ 2x-1

D)2x -2

® 2x+2

@ 2x+1

(x=3)(x+1)o|E=2

x2-2x-3

x—-3+x+1=2x—-2




(F4) = (4x-3) (2x-1)°|B=&
4x—-3+2x—1=6x—-4
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¥ +8x+15= (x+5)(x+3)
“(x+5)-(x+3)=2
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Y27} 2a - 7, Wol7F 842 — 30a + 7 ¢l AALZHE o] |2 Ao

Fatelet.
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>
> ®ehl 12a-16
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8a? - 30a+7= (2
wpetba] Ee|o] Aol
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7) (da-1)
(2a-17) +

+ (4da-1

)}x2 = 12416 o]},




13.

3ab? — 15a’b & QA5-E|eH 222

® ab(a-b) @ 3a(b? -b)

@ ab(a+b) ® 3a?(b* - 5b)

@3ab(b - 5a)

3ab? — 15a*b = 3ab(b — 5a)




14. 150° - 149> = 150 + 149 & Agst= b Wat A4l 542
TEH?

@® a® + 2ab + b* = (a + b)?
@ a?-2ab+b* = (a—b)?
@)a? - 12 = (a+b)(a-b)

@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

1502 — 1492 = (150 + 149)(150 — 149) = 150 + 149
m2tA] o] 881 FAL2 a2 -b? = (a+b)(a-b)




15. a+b=2,a>-b>=10 4 W, a-b °] 3= 5tk

a’>-b?>=(a+b)la-b)=2x(a-b)=10
“a-b=5




16. 1<x<4 o, VaZ-2x+1- Va2 —8x+ 16 & 7Fks] oFH?

® 2x-2 @ 2x+1 ®)2x-5

@ 3x-1 ® 3x+1

B

V2 —2x+1- Va2 -8x+ 16
MY/ e Y c=r v
=lx—1 - |x -4
=x—-1+x-4=2x-5




17. g =29

@ x4 14x+49 = (x = 7)?
@)1622 - 48x + 36 = (4x - 6)2
® 9x% 16 = (9x - 4)(x +4)

@ o =20 =15 = (x+5)(x = 3)
@t - 14-3= G+ (x-3)

@ x2+ 14x+49 = (x+7)2
® 9x?-16 = (3x—4)(3x + 4)
@ x* - 2x-15= (x = 5)(x +3)




@ ab+1)+(b+1)=(a+1)(b+1)

@ (x4+y?-2(x+y)+1=(x+y-1)
@ PHdx+4-y =(x+y+2)(x-y+2)
@ (x+2y)% - (3x—2y)% = —8x(x—2y)

@) (x-3) +2(x-3) -8 = (x+ 1)(x~06)

~&B

® x-3=X &1 5IH
(x=3)2+2(x-3)-8
=X?2+2X-8
=X+4)(X-2)
=(x-34+4)(x-3-2)
=(x+1)(x-5)




19.

o5 S ezt vk | A2

@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
@ —x2+1=(x+1)(-x-1)

@ x2-Tx+12= (x-2)(x—6)

@10x2 +23x—21 = (x+3)(10x-17)

B

@ 4a? - 2ab = 2a(2a - b)

@ x? 4+ 20x - 100 = (x — 10)2
@-x+1=-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x—4)




20. "= BV S &S AS BT A2

@ (b-2a)* = (2a-b)?
© a?>-b?>=(a+b)(-a+b)
© (a+b)?-4ab= (a-b)?

@ 4ab-1=(2a+1)(2b-1)

® 6,0 @o. @ ® © @
@ 0,0,® ® 8,0,

©a?-b*>=(a+b)(a-b)
@ dab-2a-2b+1 = (2a—1)(2b - 1)




21.

T o|AFA] 22 —3x—4 2} 2x2 - 11x + 12 9

® x-1 (@)x—4

@ 2x-3 ® 2x+3

¥ -3x-4=(x-4)(x+1)
2x2 = 11lx+ 12 = (2x - 3) (x — 4)




@ x+3 @ x-3 ® 2x+3

@ 2x-3 @x—4

@ -x-12=(x—4)(x+3)
© 2x%2-5x—-12= (2x+3)(x—4)




23. 232 tax+b 2 AFEFSHH (2x+1)(x+ 1) 0] et o|f a + b E
TohH?

®-5 @5 ® 7 @ -1 @

2x+1D(x+1)=2x>+3x+1
a=3, b=1
La+b=14




24.

6x2+5x—a=(2x+b)(3x+7) 7t HEZ

© -24 @ -18 ® -10

B

6x% +5x—a = (2x+ b)(3x + 7)
= 6x? + 14x + 3bx + 7b
=6x2+ (14 +3b)x + 7h
14+3b=5, Tbh=-a,b=-3,a=21
ca-b=21-(-3)=24




25. oA 20 —xy-4y? ol x-2y £ AR 7P W, v F ol o

A7 (A £ A%)

® 2x -3y @ 2x-y
@2x—|—3y ® 2x+ 5y

® 2x+y

~&B

2x2 — xy — Ay? = (x — 2y)(2x + my)
=2x2 + (m — 4)xy - 2my?

—44+m=-1,m=3

A=-2m,A=6

L 2x2 — xy — Ay? = (x - 2y)(2x + 3y)




26. x-47F 5 oA X2 4+ ax+40, 3x2 - 10x + b O] FFY QA4 o,
a-b 9| & Fohd?

® 3 @ 6 ® 0 @-3 @)-6

B ‘

X%+ ax+40 = (x - 4)(x - 10)

La=-14
3x2—10x+b = (x—4)(3x+ 2)
S.b=-8

..a_b:_].4:—(—8):—6




27. A mekol o] Wolrt 16a2 - 24a+9 U o, g o] Ao]&?

@ 3a+5 ®4a—3 ® 4a+3

@ 3a-3 ® 2a+5

16a® — 24a + 9 = (4a — 3)?
w2bA] 9F 1 O] dol= 4aq - 3 o|tt.




28. x(y-a)-y+a & HEA ApEolt A2?

® (x+1)(y+a) @ (x+1)y-a) ® (x-1)(y+a)
@x-Dy-a)  © (1-x+y)

x(y—a)-y+a=x(y-a)-(y-a)
=x-1)(-a




X(x+2)(x+4) (x+6) + 16 = A5E3|5He FpAolt. (et &
Ao 2.2 A

x(x+2)(x+4)(x+6)+ 16
=x(D) x (x+2)(@) + 16

= (x% 4 6x)(®) + 16

(@) =A 2 std

A2+ 8A+16=(A+4)?=(®)

@ x+5 @ x+3 @ x2+4x+8
(@)x2+6x ® x2+6x+1

B

@D x+6
@ x+4
@ x*+6x+8
®x+6x+4




30.

22— 2x-)? 4+ 2y B A5HalatdEy]
(x+ay)(x— by +¢) 7} ek, olwh a + b+ ¢ o) L2

¥ -2x—-y* +2y =x>-y?-2(x-y)
— (x4 9)(x-3) ~2(x-3)
=(@x-yx+y-2)

Ot a=-1, b=-1, c=-29BE2 g+ b+c= -4




